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B 9| 3476|iIfE ImE [BHE-2 3m10]+0.7
B| 10| 3480|H#E BE |HE-2 3m50[+1.2
B| 11 2231/ sk BB [BIfE-2 3m50(+0..9
B[ 12| 2907JIIE@ =4 |¥BRFE-3 DNS
Bl 13| 3438[=ix f£EEF |&ILFER-2 4m01]+1.2
B[ 14 2005|5% &F |FHRIG-3 3m90[+0.9
B| 15| 2230[f5E L |AlfE-2 3m47]0
B| 16] 1916[5)kF ZEH [#F-3 3m62[+0.9
B| 171 2017[luAx Fipm [FHRIE-3 3m38[+0.7
B| 18] 2913[/kX BEE [HARAE 3 3m52]+0.6
B[ 19 12K £E ([EE-2 3m91[+1.0
B| 20 2232[fx@A EBI [AlfE-2 4m00(+0.6
B[ 21] 3700k mFE [BF-2 3m79[+0.7
B | 22| 3428|ithft EE |BLUFER-2 3m59(+0.7
B | 23| 3439|iEE X |FriE-2 3m86[+0.7




TF i PAER
HEIE FUN - G<X:1] & 0K
1 2007 %& ¥®K FHRE-3 10 m 98
2 3223 mtfE mil  FRE-3 10 m 77
3 136 KiE #i/h A3 10 m 31
4 1904 K#¥t A% #F-3 9m 38
5 2156 A{RHE EE FHrid-2 8 m 39
6 1909 Beh Fi #HFE-3 8 m 33
7 1943 BL ¥E fFE-2 8 m 07
8 3208 3 HD FKH-2 8 m 01
9 147 %@E A WHE-2 7 m 55
10 3179 % T EBK FKB-2 7m 38
11 1911 $5K X #F-3 7m 35
12 1941 2@ #4& #HF-2 6 m 30
13 1942 Bl x& #wF-2 5 m 90
14 1935 lUF AFE MHF-2 5m 68
15 2306 EAMIERK SBILUFER-3 5 m 60
16 3434 ZEHEvH  BUGER-2 5m 26
17 133 EE#EHE  HHE-3 3 m 47



TF MR PAER
HEIE FUN - G<X:1] BilE: ECE%
1 3208 3 HPD FE-2 21 m 72
2 2007 & ¥®K FHKIH-3 21 m 71
3 3T9HT BK FKEB-2 20 m 92
4 1B ELREDHEF HA-3 16 m 51
5 2306 AAMIERE &IUFE-3 13m 15



ZF  VeNIAR- R

HEIE U — &Rl g

FCE%

1 136 &iZ #t75y HHE-3
2 3218 ¥ #IFE KBS
3 148 HHE WETE WH-2
4 3223 mtfE EEl  FRE-3

35 m 91
29 m 07
27 m 80
20 m 94



